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AP HE: &1 (NO. ) AEAHTAR ZNEAAA: HAgA 2 X
NEEF ZH(HESR) A g 13 Al E A AAE ) H B
NEd: 2016.01.15. e R REREEE
2 % Density 2.687 g/a 2AASF P.I NP HA g1 0.M.C 8.2 (%)
Mg a7 Liquid Limit NP (%) =3=442u @R 10 %) ANNIARENR)  17.7 (%)
2B Plastic Linit NP (9 AWIERE ey g aage) 8.6 (%)
A7HEE N E R
PERCENT PASSING OF
STREVTE ANALYSTS
CEERN I
ANEYEFA (mm) (%)
GRADING CURVE OF SIEVE ANALYSIS 75 -
53 -
_ 37.5 -
£ 26.5 -
Y 9.5 -
"3 4.75 -
: 2.0 -
0 0.425 -
S 0.08 -
Grading Size(mm) pan
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gd F F A 3 R
e gy o AlgAR  :2016.01.025
AWM KS F 2306:2000 o 71&MNYA} HeHY L¥
AlE &5 S(HEL) o A 3 = :PAzL AL
Alws & 1
W 1189.6 D: W DW i DV :
DV: 1109.8 TW:  180.1|DW: W: EDW2 TV:
Ww:  79.8 Ws:  929.7[Ww: Ws: [ s
W: 8.6 W: i W
RS |
WW: 1154.0 Di: W DW: Eww: DV :
DV: 1079.6 TW:  209.2[DW: ™W: ti- ™W:
Ww: 744 Ws:  870.4|Ww: 0 Ws: L Ws:
W: 8.5 W: ! W
Fat ] W) 8.6 i
P | |
i : NE i NE iy DIy
DW: TW: : LE TV: EDW: TV:
Ww: Ws: | Ww: Ws: | Ww: Ws:
W: i W: i W
N | |
i DW: EWWI DW: Eww: DV :
DW: ™W: ti: ™W: ti: W:
Ww: Ws: !Ww Ws: !Ww Ws:
5 5
Bt FEH] W(%) i i
H] al




z9 A= A

oAl d H 3T E] o Al o] :2016.01.025.
AlE W KS F 2308:2006 7% 2 Hed 7 L%
Al F 5 Z(HESR) Al A ARE 2 H I
1. BT HA
= A H 3 1 2 H| 31
v = " 9 H ol 23 41
Hl o & Wf (g) 81.714 76.404
HSH + /75 % Wai (g) 330.272]  326.067
Wais E%s W 2 Ti(C) 15.2 15.2
LE Tx(C) d v &0 I @

o Ti(C) o 1 B Wi 0.999770| 0.999770
Wai - Wf (g) ® 248.558|  249.663
ol &% (Tx)ol gk I3 %-m]H
tmo) Zor Wax (g) = @ x 330.215|  326.010
2.8 F A 3
HSH + WAFZAR + B9 =
150+ 15+ 2o 3% 345.948 | 341.742
Wh(g)
e SA el vaxngHe
ye&e 2% Tx(T) . 16.6
wAZ A5 T Wo (g) 25.027 25.057
T(CH)Y o Wo
5o HF = 2.693 2.687
(TC / TC) Wo + (Wax — Wb)

2rost &9 Uk (g/cr) 0.99884|  0.99884

E 9 9 Z(g/cr) 2.690 2.684
g 4 # 2.687 (g/ct)
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o A A
o A¥gHT : El o AL 12016.01.025.
o AlgH¥ : KS F 2312:2001 o 7%zt Hen 7 LY
O AFFE 1 Z(HESR) oA & A PEs A H Z
= = 8 2o 2206.55 cm A 597.1¢g
8 2206.55 cIi 5967.1 g
i} T 2.687
(AN B+E=)FAl(g) 1 | 10401.5 ! 2 | 10628.0 ! 10651.2
I 1
Hox 2HA(g) 4434 .4 i 4660.9 i 4684.1
Aoy t(g/ar) 2.010 i 2.112 i 2.123
ww: | 1205.7|DW: [WWw: | 1334.5/DW: W : 1127.6|DW: |
DW: | 1149.3|TW: | 207.5;DW: | 1247.5|TW: | 177.4|pW: 1039.5|TW: 175.2)
W : 56.4 Ws:  941.8W: 87 Ws:  1070.1|Ww: 88.1 Ws: 864.3,
W: 6.0 W: 8.1 W: 10,21
g & oW = A ! !
WW: | 1189.5|DW: lyw: | 1311.7|Dw: W 1212.6/DW: !
DW: | 1133.5(TW: | 197.8 |pW: | 1230.5/TW: | 208.1|pv: 1116.5|TW: 175.7|
W : 56 Ws:  935.7)Ww: 81.2 Ws:  1022.4|Ww: 96.1 Ws: 940.8
W: 6.0 W 7.9 W: 10.2!
I
A 3hn] W(%) 6.0 i 8.0 i 10.2
Az Yd(g/ar) 1.896 i 1.956 i 1.926
G &) 3= 2 2.314 | 2.212 | 2.109
A Z 9 = o/cn) o _i___ o i___ ]
(A B+E=)T 7 (9) 4 10690.1[ L5 ] 10678.I[ ! ] 10711.0
AN 2 2A (g) 4723.0 | 4711.0 | 4743.9
Ao Vi(g/en) 2.140 | 2.135 | 2.150
WW: | 1205.4/DW: !WW: 1181.8/DW: W 1142.1/DW:
DV: | 1097.9| 204| 209.4/pw: | 1060.3|TW: | 179.9|pV: 1010.2|TW: 179.9
W : 107.5Ws: 8885l 121.5 Ws:  880.4|Ww: 131.9 Ws: 830.3
W: 12.1; W: 13.8! W: 15.9"
g o+ v 5 A -
WW: | 1191.4/DW: byw: [ 1126.8|DW: W : 1115.6/|DW:
DW: | 1086.2/TW: | 206.2IDW: | 1007.0|TW: | 209.5|Di: 987.4|TW: 179.5
Ww: 105.2 Ws:  880.0|Ww: 109.8 Ws:  797.5|Ww: 128.2 Ws: 807.9
W 12.0; W 13.8; W: 15.9,
H 1t g5 W(%) 12.1 i 13.8 i 15.9
AZA T Yd(g/cr) 1.909 | 1.876 | 1.855
o 7] = 3
o = w el e 2.028 1.960 1.883
B I
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59 4=/ 2%

o AYNE : EIl o AFAA 1 2016.01.025.
o A@HY  KS F 2302:2002 o 7&AAA : FgH 2 LF
o NIFE  Z(HES) oA ¥ A :AVS L H Z
1. AES HSHEL NSE2DHE
qoa EEEE)m] 75 53 37.5 | 26.5 19 9.5 | 4.75 2 085 | 0.425 | 0.25 | 0.106 | 0.075
=7 | oi==ms@) | 100.0 | 100.0 [100.0 [ 978 [96.4 [ 923 [8.1 [ 77.7 | 63.7 | 415 | 31.3 18. 1 13.7
e TE 2(M) | 0.045 | 0.032 | 0.021 | 0.012 | 0.009 | 0.006 | 0.003 | 0.001 | 0.0001
£ A I==Ens%) | 11.8 | 10.8 | 9.8 89 | 8.1 76 | 6.9 | 5.9 0
2. AAIRDM
-
SEERARE R
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o/
90.0 et
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0.0001 0.001 0.01 0.1 10 100
ol 2
—— AT B |




FAUAMNE(H24 ANE)

o Az El o Aldda 2016.01.025.
o AlEHH KS F 2302:2002 o 7|&H zBHE % 2
o NIEE : ZMHES) o N ¥ A A5 LA
NO.10RIO S AIZE 22 41
D)AHXS
AN SIAZ2H W) =2AZAIZI AIZ A (W)
NZ
=H (MABIAZAE+EI]) 3990.1 g W+ 21) 2 1,455.9 g
2123 801.8 g 2I12 801.8 g
HHAZO BIAHZTDHMW) 3188.3 ¢ Wi 654.1 g
1. AHesH =3
NO 1 NO 2
Wy 1189.6 Wy 1154.0
Dw 1109.8 Tw 180.1  Ow 1079.6  Tw 209.2
Wi 79.8 Ws 929.7 Wiw 74.4 s 870.4
W= 8.6% W= 8.5%
W2ESH 8.6%
2. HAZANZLAH(WO) = W/ (14w) 2936.7
3. 2mmAl SUHZAIZ2H(W2)= W2=W0-W1 2282.6 g 2282.6
4. P2.0(LF2.0mOIN Sl = SDE)= W2/Wo 7. 7% 71.3%
5. 2mmA 0l €2 A2 M=EA
HlaHH 1 2 1 2=1/W0
= = o g2A=+ g2A2 oo JHH A s
Mo eee ) BRI | =aw | #TFE* | mgs I8
75.0mm 1 437.10 437.10 0.00 | 0.0% 0.0% | 100.0%
53.0mn 2 461.90 461.90 0.00 | 0.0% 0.0% | 100.0%
37.5mn 3 471.60 471.60 0.00 | 0.0% 0.0% | 100.0%
26.5mn 4 469.50 533.40 63.90 | 2.2% 2.2% | 97.8%
19.0mm 5 456.80 497 .40 40.60 | 1.4% 3.6% | 96.4%
9.5mm 6 489.70 610.50 | 120.80 | 4.1% 7.7% | 92.3%
4.75mm 7 524..00 706.90 | 182.90 | 6.2% 13.9% | 86.1%
2.0mm 8 448.90 694.80 | 245.90 | 8.4% | 22.3% | 77.7%
* AZANZE: 654.10 g
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o AT Bl o Algddxa  : 2016.01.025.
o AF 1 KS F 2302:2002 o 71&AYR - BN 2 LU
o AFEE CE(AES) o Al & A UsE 4HL
(ZINAXZASHEI)2AH 692.01 g E9|&Hl(w) : 9.2%
ZI|2A : 577.00 g Eoldx (Gs) : 2.687
SIATZAZFAH W, : 115.01 g 24X (PI) - N.P SAHAI ANMUES
AXAIZS2H : Ws=100Ws /(100+w) : 114.90 ¢
P2.0(YH2.0mmOlAS JDIRENSE: 77.7%
1. 2mSHE XA 4HI
NO @ 1 NO : 2 NO : 3
WW = 950.9 WW = 986.5 W =
oW = 888.3 Tw = 204.9 oW = 921.2 Tw = 208.9 DW = Tw =
Ww = 62.6 Ws = 683.4 Ww = 65.3 Ws = 712.3 Ww = Ws =
W= 9.2% W= 9.2% W=
Yot o 9.2%
2. HISH ANE
RN =V ET: HEHS EEREENEEE e aire  |omaa . e o] 2EI
=T t(min) | A42= r 25210(L(mm) L/t v L/t N (30n)/g(rs—rw) | ZCHL A0 (mm) =EAeE =8+ N R ==}
10:31 1 0.0210f 0.0210 128.8 128.8 11.3473 0.0040 0.0451 25 0.0020] 0.0230 31.8% 11.8%
10:32 2 0.0190f 0.0190 132.6 66.3 8.1434 0.0040 0.0323 25 0.0020] 0.0210 29.1% 10.8%
10:35 5 0.0170f 0.0170 136.5 27.3 5.2249 0.0040 0.0207 25 0.0020f 0.0190 26.3% 9.8%
10:45 15 0.0150f 0.0150 140 .4 9.4 3.0591 0.0040 0.0121 25 0.0020f 0.0170 23.5% 8.9%
11:00 30 0.0135[ 0.0135 143.3 4.8 2.1853 0.0040 0.0087 25 0.0020] 0.0155 21.4% 8.1%
11:30 60 0.0125) 0.0125 145.2 2.4 1.5557 0.0040 0.0062 25 0.0020] 0.0145 20.1% 7.6%
14:30 240 0.0110f 0.0110 148. 1 0.6 0.7856 0.0040 0.0031 25 0.0020f 0.0130 18.0% 6.9%
10:30 1440 0.0090f 0.0090 152.0 0.1 0.3249 0.0040 0.0013 25 0.0020f 0.0110 15.2% 5.9%
HUAHAS EX (Cm) : 0.0009 1:8H 282 Z0IAl =241.0000HXI 22 0l (m) 107.59
Ws/V (g/cm) : SEM 1ml & AZAIZ 2 2:2H 2o TOA =241.0507HKI2 2 0l (mm) 10.87
b : X 2229 20l (mm) 136.84
1/(Ws/V)= 8.70 cm/g Gs/(Gs-0.99678)*rw 1.590 g/or Vb : BE 229 21)(er) 57.50
A HAASIGS SHHE (o) 58.84
3. HotE
H A 1 2 3=2-1 4=3/Ws 5 6 7=6xP2.0
- = H2A2+ | H2Al2
A EJHs [EIIRH]| o5 o o &=E MRS RE IIRENE |BEHIIE S8
0.85mm(NO.20) 1 437.3 458.0 20.70 18.0% 18.0% 82.0% 63.7%
0.425mm(NO.40) 2 369.7 402.6 32.90 28.6% 46.6% 53.4% 41.5%
0.25mm(N0.60) 3 380.0 395.0 15.00 13. 1% 59.7% 40.3% 31.3%
0.106mm(NO. 140) 4 345.1 364.7 19.60 17.1% 76.8% 23.2% 18.1%
0.075mm(NO.200) 5 351.0 357.4 6.40 5.6% 82.3% 17.7% 13.7%




C BRA & #
o AlFHE =3 o Al Az} 2016.01.025.
o AlEHH KS F 2320:2000 o NEAYA 1 Hen HIEE
o ANIFE L m(HES) oA B A pEz 4AE
=5 [NaEE] (Fea [EeErANETA] Bu [dedw] a5 [oled =[5 CBR
= I
D olrmus| T M @ | @ | @ | @ | ® | @ | @
T g)
5X10 37 8626.6 4571.0| 4055.6| 2209.21| 1.836 8.2 1.697] 3
5X25 38 8906.7 4609.2| 4297.5| 2208.04| 1.946 8.2 1.799] 8
5X55 39 9264.9 4630.6| 4634.3| 2201.71| 2.105 8.2 1.945] 13
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AR+ B YA Y

= = s “1:].’ A

o AlgRlE 1 El o AFAA  : 2016.01.025.

A o KS F 232012000 o 7|EAYA - H8H 7 S
MNAFE ¢ Z(HER A" 2 Pgds 44

vl ol &k

TR %m‘?n)c’ 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
Ztg S 0 12.0 20.0 28.0 35.0 42.0 48.0 60.0 71.0 96.0 119.0
S =7F

37 | ST 0 0.6 1.0 1.4 1.8 2.1 2.4 3.1 3.6 4.9 6.1
(kg f/
=] == ]_1:
?}ﬁffﬁ) 0 0.060] 0.100] 0.140 0.175] 0.210 0.240 0.300] 0.355| 0.479]  0.594
?kg ?) 0 23.0 41.0 60.0 77.0 95.00 110.0| 137.0| 162.0| 209.0] 254.0
=] == ]_

33 | CreeE 0 1.2 2.1 3.1 3.9 4.8 5.6 7.0 8.3 10.6 12.9
(kg f/
=] == ]_‘[:
?Mgi’nﬁ 0 0.115|  0.205|  0.300] 0.385| 0.474] o0.549] o0.684| 0.800] 1.044] 1.268
(Ekg f) 0 928.0 50.0 73.00  100.0| 128.0| 157.0| 214.0| 272.0| 388.0| 493.0
=] == ]_

39 |CreeiE 0 1.4 2.5 3.7 5.1 6.5 8.0 10.9 13.9 19.8 95.1
(kg f/
=] == ]_‘[:
?ME;‘;H; 0 0.140 0.250|  0.365] 0.499] 0.639] 0.784| 1.069] 1.358]  1.938]  2.462
17 3 (2.5m) g'g <100 = 3.0% 5. Omm 100°43 %100 =  3.4%
42 3 (2.5m) g'g <100 = 6.9% 5. Omm 100°83 <100 = 7.9%
92 3 (2.5m) g'g <100 = 9.3% 5. Omm 110°43 <100 = 13.2%
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ATTERBERG StA

o AlgHE : El o AFAA  :2016.01.025.
o Ag@HE KS F 2320:2000 o 7&AYA} HLEy L7
o AlFEE I H(HES) o Al F 2 Hdsd A
DM SHA|
Algsls 1 2
7 H 3
s e |
7| FH+0EEZF |
2 o 7 0 0
s 7 & A
of 2 Al & & 0 0
il #DIV/0! #DIV/0! #DIV/0! (A2 M & otE
OH M SHA|
Al B 1 2
o s 3l £
7 H 3
EI7|2A + 2524
87|27 + DI2 &2
2 o 2 7 0 0
s 7 & A
O 2 Al 2 & A 0 0
&t £ H[(%) #DIV/0! #DIV/0! #DIV/0! |A 2 A& oE
N st
=z
<k
101
'_|f)
ar
0
1.0 10.0 100.0
Eh==H| (W) %
Al M3t
M SHA UM SHAMX| 4=
NP NP NP




